$\Box$	Determining Change - Multiple Costs , Multiple Items Name:	
Solv	ve each problem.	<u>Answers</u>
1)	Adam bought 2 strategy guides, 1 poster and 1 used game at the game store. The strategy guides cost \$7.10 each, the poster cost \$3.85 and the used game was \$1.25. If he paid with a twenty dollar bill, how much change should he get back?	1
2)	George bought 2 watermelons, 2 pineapples and 2 bags of cherries at a fruit stand. The watermelons cost \$2.90 each, the pineapples cost \$0.70 a piece and the bags of cherries were each \$2.25. If he paid with a twenty dollar bill, how much change should he get back?	2 3 4.
3)	Rachel bought 1 soda, 1 hat and 2 hotdogs at the baseball game. The soda cost \$5.40, the hat cost \$1.85 and the hotdogs were each \$1.00. If she paid with a twenty dollar bill, how much change should she get back?	5 6
4)	Carol bought 1 bookmark, 3 books and 1 poster at the school book fair. The bookmark cost \$3.15, the books cost \$3.80 a piece and the poster was \$0.65. If she paid with a twenty dollar bill, how much change should she get back?	7.    8.
5)	Oliver bought 1 box of candy, 1 soda and 1 bag of popcorn at the theater. The box of candy cost \$4.20, the soda cost \$1.55 and the bag of popcorn was \$4.10. If he paid with a twenty dollar bill, how much change should he get back?	9
6)	Tom bought 2 cups, 1 plate and 1 bowl at a store. The cups cost \$2.45 each, the plate cost \$1.15 and the bowl was \$2.90. If he paid with a twenty dollar bill, how much change should he get back?	
7)	Lana bought 2 large lollipops, 1 box of chocolate and 1 bag of candy at the candy store. The large lollipops cost \$2.95 each, the box of chocolate cost \$3.90 and the bag of candy was \$2.45. If she paid with a twenty dollar bill, how much change should she get back?	
8)	Amy bought 1 pen, 1 eraser and 2 pencils at the school shop. The pen cost \$0.50, the eraser cost \$1.00 and the pencils were each \$0.95. If she paid with a twenty dollar bill, how much change should she get back?	
<b>9</b> )	Victor bought 1 T-shirt, 1 jacket and 1 hoodie at the clothing store. The T-shirt cost \$5.25, the jacket cost \$6.70 and the hoodie was \$7.00. If he paid with a twenty dollar bill, how much change should he get back?	

	Determining Change - Multiple Costs, Multiple Items Name: A	<u>nsw</u>	er Key
Solv	ve each problem.		Answers
1)	Adam bought 2 strategy guides, 1 poster and 1 used game at the game store. The strategy guides cost \$7.10 each, the poster cost \$3.85 and the used game was \$1.25. If he paid with a twenty dollar hill, how much change should be get heal?	1.	\$0.70
	a twenty dollar bill, how much change should he get back? $(7.10\times2=14.20)+(3.85\times1=3.85)+(1.25\times1=1.25)=19.30$	2.	\$8.30
2)	George bought 2 watermelons, 2 pineapples and 2 bags of cherries at a fruit stand. The watermelons cost \$2.90 each, the pineapples cost \$0.70 a piece and the bags of cherries were each \$2.25. If he paid with a twenty dollar bill, how much change should he get back?	3.	\$10.75
	$(2.90 \times 2 = 5.80) + (0.70 \times 2 = 1.40) + (2.25 \times 2 = 4.50) = 11.70$	4.	\$4.80
3)	Rachel bought 1 soda, 1 hat and 2 hotdogs at the baseball game. The soda cost \$5.40, the hat cost \$1.85 and the hotdogs were each \$1.00. If she paid with a twenty dollar bill, how much change should she get back?	5.	\$10.15 \$11.05
	$(5.40 \times 1 = 5.40) + (1.85 \times 1 = 1.85) + (1.00 \times 2 = 2.00) = 9.25$	6 7.	\$7.75
4)	Carol bought 1 bookmark, 3 books and 1 poster at the school book fair. The bookmark cost \$3.15, the books cost \$3.80 a piece and the poster was \$0.65. If she paid with a twenty dollar bill, how much change should she get back?	8.	\$16.60
	(3.15×1=3.15)+(3.80×3=11.40)+(0.65×1=0.65)=15.20	9.	\$1.05
5)	Oliver bought 1 box of candy, 1 soda and 1 bag of popcorn at the theater. The box of candy cost \$4.20, the soda cost \$1.55 and the bag of popcorn was \$4.10. If he paid with a twenty dollar bill, how much change should he get back? $(4.20 \times 1=4.20)+(1.55 \times 1=1.55)+(4.10 \times 1=4.10)=9.85$	7	
6)	Tom bought 2 cups, 1 plate and 1 bowl at a store. The cups cost \$2.45 each, the plate cost \$1.15 and the bowl was \$2.90. If he paid with a twenty dollar bill, how much change should he get back? ( $2.45 \times 2=4.90$ )+( $1.15 \times 1=1.15$ )+( $2.90 \times 1=2.90$ )=8.95		
7)	Lana bought 2 large lollipops, 1 box of chocolate and 1 bag of candy at the candy store. The large lollipops cost \$2.95 each, the box of chocolate cost \$3.90 and the bag of candy was \$2.45. If she paid with a twenty dollar bill, how much change should she get back? $(2.95 \times 2=5.90)+(3.90 \times 1=3.90)+(2.45 \times 1=2.45)=12.25$		
8)	Amy bought 1 pen, 1 eraser and 2 pencils at the school shop. The pen cost \$0.50, the eraser cost \$1.00 and the pencils were each \$0.95. If she paid with a twenty dollar bill, how much change should she get back? $(0.50 \times 1=0.50)+(1.00 \times 1=1.00)+(0.95 \times 2=1.90)=3.40$		
9)	Victor bought 1 T-shirt, 1 jacket and 1 hoodie at the clothing store. The T-shirt cost \$5.25, the jacket cost \$6.70 and the hoodie was \$7.00. If he paid with a twenty dollar bill, how much change should he get back? ( $5.25 \times 1=5.25$ )+( $6.70 \times 1=6.70$ )+( $7.00 \times 1=7.00$ )=18.95		

1

Math

	Dete	ermining Chang	e - Multiple Cos	ts , Multiple Iter	ms Name:	
Solv	ve each problem	<u> </u>		, i I		Answers
	\$10.15 \$1.05	\$8.30 \$0.70	\$16.60 \$11.05	\$7.75 \$4.80	\$10.75	1
1)	guides cost \$7.2	10 each, the poster	poster and 1 used g cost \$3.85 and the ange should he get	used game was \$1	store. The strategy .25. If he paid with	2 3
2)	watermelons co	ost \$2.90 each, the	bineapples and 2 ba pineapples cost \$0. twenty dollar bill,	70 a piece and the		4 5
3)	hat cost \$1.85 a		hotdogs at the base re each \$1.00. If sh ?			6 7
4)	\$3.15, the book		e and the poster wa		The bookmark cost d with a twenty	8 9
5)	cost \$4.20, the	•	d the bag of popcor	-	er. The box of candy paid with a twenty	
6)	Tom bought 2 c \$1.15 and the b should he get ba	each, the plate cost much change				
7)	The large lollip	ops cost \$2.95 each	ox of chocolate and h, the box of choco ty dollar bill, how b	late cost \$3.90 and	the bag of candy	
8)		the pencils were ea	-		ost \$0.50, the eraser ollar bill, how much	
9)	the jacket cost S	·	nd 1 hoodie at the o ie was \$7.00. If he	-	e T-shirt cost \$5.25, 7 dollar bill, how	

1

Soly	ve each problem.		Answers
	-		Answers
1)	Paul bought 3 cups, 3 bowls and 3 plates at a store. The cups cost \$1.10 each, the bowls cost \$1.05 a piece and the plates were each \$2.40. If he paid with a twenty dollar bill, how	1	
	much change should he get back?	2	
2)	Carol bought 1 can of cheese dip, 3 sodas and 1 bag of chips at the grocery store. The can of cheese dip cost \$3.60, the sodas cost \$3.05 a piece and the bag of chips was \$1.75. If she	3	
	paid with a twenty dollar bill, how much change should she get back?	4	
driv	Cody bought 1 screw driver, 3 wrenches and 1 hammer at a hardware store. The screw driver cost \$4.95, the wrenches cost \$0.55 a piece and the hammer was \$0.85. If he paid	5	
	with a twenty dollar bill, how much change should he get back?		
4)	Bianca bought 2 hotdogs, 1 soda and 2 hats at the baseball game. The hotdogs cost \$5.40		
	each, the soda cost \$1.85 and the hats were each \$1.30. If she paid with a twenty dollar bill, how much change should she get back?	8	
5)	Amy bought 1 box of candy canes, 3 boxes of ornaments and 3 gift bags at the Santa Store. The box of candy canes cost \$5.55, the boxes of ornaments cost \$2.00 a piece and the gift bags were each \$1.55. If she paid with a twenty dollar bill, how much change should she get back?	9	
6)	Victor bought 1 used game, 1 poster and 1 strategy guide at the game store. The used game cost \$7.25, the poster cost \$1.00 and the strategy guide was \$1.25. If he paid with a twenty dollar bill, how much change should he get back?		
7)	Olivia bought 1 pencil, 1 eraser and 2 pens at the school shop. The pencil cost \$0.50, the eraser cost \$1.40 and the pens were each \$0.90. If she paid with a twenty dollar bill, how much change should she get back?		
8)	Debby bought 3 hotdogs, 2 sodas and 2 hamburgers at the state fair. The hotdogs cost \$4.30 each, the sodas cost \$0.95 a piece and the hamburgers were each \$2.05. If she paid with a twenty dollar bill, how much change should she get back?		
9)	Emily bought 1 charger, 2 screen protectors and 1 case at the phone store. The charger cost \$4.15, the screen protectors cost \$2.95 a piece and the case was \$5.95. If she paid with a twenty dollar bill, how much change should she get back?		

J	Determining Change - Multiple Costs, Multiple Items Name: A	nswe	er Key
Solv	ve each problem.		Answers
1)	Paul bought 3 cups, 3 bowls and 3 plates at a store. The cups cost \$1.10 each, the bowls cost \$1.05 a piece and the plates were each \$2.40. If he paid with a twenty dollar bill, how much change should he get back?	1	\$6.35
	$(1.10 \times 3 = 3.30) + (1.05 \times 3 = 3.15) + (2.40 \times 3 = 7.20) = 13.65$	2	\$5.50
2)	Carol bought 1 can of cheese dip, 3 sodas and 1 bag of chips at the grocery store. The can of cheese dip cost \$3.60, the sodas cost \$3.05 a piece and the bag of chips was \$1.75. If she	3	\$12.55
	paid with a twenty dollar bill, how much change should she get back? $(3.60\times1=3.60)+(3.05\times3=9.15)+(1.75\times1=1.75)=14.50$	4	\$4.75
3)	Cody bought 1 screw driver, 3 wrenches and 1 hammer at a hardware store. The screw driver cost \$4.95, the wrenches cost \$0.55 a piece and the hammer was \$0.85. If he paid	5	\$3.80
	with a twenty dollar bill, how much change should he get back? $(4.95 \times 1=4.95)+(0.55 \times 3=1.65)+(0.85 \times 1=0.85)=7.45$	6	\$10.50
4)	Bianca bought 2 hotdogs, 1 soda and 2 hats at the baseball game. The hotdogs cost \$5.40	7	\$16.30
	each, the soda cost \$1.85 and the hats were each \$1.30. If she paid with a twenty dollar bill, how much change should she get back? $(5.40\times2=10.80)+(1.85\times1=1.85)+(1.30\times2=2.60)=15.25$	8	\$1.10
		9.	<b>\$4.00</b>
5)	Amy bought 1 box of candy canes, 3 boxes of ornaments and 3 gift bags at the Santa Store. The box of candy canes cost \$5.55, the boxes of ornaments cost \$2.00 a piece and the gift bags were each \$1.55. If she paid with a twenty dollar bill, how much change should she get back?		
	$(5.55 \times 1 = 5.55) + (2.00 \times 3 = 6.00) + (1.55 \times 3 = 4.65) = 16.20$		
5)	Victor bought 1 used game, 1 poster and 1 strategy guide at the game store. The used game cost \$7.25, the poster cost \$1.00 and the strategy guide was \$1.25. If he paid with a twenty dollar bill, how much change should he get back? $(7.25 \times 1=7.25)+(1.00 \times 1=1.00)+(1.25 \times 1=1.25)=9.50$		
7)	Olivia bought 1 pencil, 1 eraser and 2 pens at the school shop. The pencil cost \$0.50, the eraser cost \$1.40 and the pens were each \$0.90. If she paid with a twenty dollar bill, how much change should she get back? $(0.50 \times 1=0.50)+(1.40 \times 1=1.40)+(0.90 \times 2=1.80)=3.70$		
8)	Debby bought 3 hotdogs, 2 sodas and 2 hamburgers at the state fair. The hotdogs cost \$4.30 each, the sodas cost \$0.95 a piece and the hamburgers were each \$2.05. If she paid with a twenty dollar bill, how much change should she get back? $(4.30\times3=12.90)+(0.95\times2=1.90)+(2.05\times2=4.10)=18.90$		
9)	Emily bought 1 charger, 2 screen protectors and 1 case at the phone store. The charger cost \$4.15, the screen protectors cost \$2.95 a piece and the case was \$5.95. If she paid with a twenty dollar bill, how much change should she get back? $(4.15 \times 1=4.15)+(2.95 \times 2=5.90)+(5.95 \times 1=5.95)=16.00$		

C

	Dete	ermining Change	e - Multiple Cos	sts , Multiple Iter	ns Name:	
Solv	ve each problem			,		Answers
	\$4.75 \$1.10	\$5.50 \$12.55	\$3.80 \$6.35	\$16.30 \$10.50	\$4.00	1
1)	cost \$1.05 a pie	I '	1	The cups cost \$1.10 he paid with a twe	,	2 3
2)	of cheese dip co	-	cost \$3.05 a piece	-	ery store. The can ps was \$1.75. If she	4 5
3)	driver cost \$4.9		st \$0.55 a piece ar	ner at a hardware st nd the hammer was ne get back?		6 7
4)	each, the soda o	-	ats were each \$1.2	seball game. The h 30. If she paid with	otdogs cost \$5.40 a twenty dollar bill,	8 9
5)	The box of can	dy canes cost \$5.55	, the boxes of orn	nents and 3 gift bag aments cost \$2.00 a ar bill, how much c		
6)	cost \$7.25, the	0 1	nd the strategy gui		ore. The used game paid with a twenty	
7)	eraser cost \$1.4	-	e each \$0.90. If sh	nool shop. The penc he paid with a twent		
8)	\$4.30 each, the	-	piece and the ham	at the state fair. The burgers were each he get back?	-	
9)	\$4.15, the scree	•	2.95 a piece and th	ne case was \$5.95. I	re. The charger cost	

Solv	ze each problem.	Answers
1)	Faye bought 1 screen protector, 3 cases and 1 charger at the phone store. The screen protector cost \$5.20, the cases cost \$2.25 a piece and the charger was \$5.55. If she paid with a twenty dollar bill, how much change should she get back?	1
		2
2)	Oliver bought 3 watermelons, 2 bags of cherries and 1 pineapple at a fruit stand. The watermelons cost \$2.15 each, the bags of cherries cost \$0.80 a piece and the pineapple was	3
	\$3.00. If he paid with a twenty dollar bill, how much change should he get back?	4
3)	Janet bought 1 gift bag, 2 boxes of candy canes and 2 boxes of ornaments at the Santa	5
	Store. The gift bag cost \$5.00, the boxes of candy canes cost \$2.00 a piece and the boxes of ornaments were each \$2.65. If she paid with a twenty dollar bill, how much change should she get back?	6
4)	Frank bought 1 strategy guide, 3 posters and 1 used game at the game store. The strategy	7
2	uide cost \$7.50, the posters cost \$1.75 a piece and the used game was \$4.20. If he paid ith a twenty dollar bill, how much change should he get back?	8
		0
5)	Cody bought 2 bowls, 2 plates and 1 cup at a store. The bowls cost \$2.35 each, the plates cost \$1.45 a piece and the cup was \$1.65. If he paid with a twenty dollar bill, how much change should he get back?	9
6)	Haley bought 1 eraser, 2 pencils and 2 pens at the school shop. The eraser cost \$0.60, the pencils cost \$1.35 a piece and the pens were each \$0.55. If she paid with a twenty dollar bill, how much change should she get back?	
7)	Maria bought 3 hats, 2 hotdogs and 1 soda at the baseball game. The hats cost \$5.05 each, the hotdogs cost \$1.55 a piece and the soda was \$1.70. If she paid with a twenty dollar bill, how much change should she get back?	
8)	Vanessa bought 2 hamburgers, 3 hotdogs and 2 sodas at the state fair. The hamburgers cost \$3.80 each, the hotdogs cost \$1.30 a piece and the sodas were each \$2.75. If she paid with a twenty dollar bill, how much change should she get back?	
9)	Will bought 3 baseballs, 2 footballs and 3 soccer balls at the sports store. The baseballs cost \$1.60 each, the footballs cost \$2.30 a piece and the soccer balls were each \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	

Math

C

	Determining Change - Multiple Costs , Multiple Items Name: An	SW	er Key
Solv	ve each problem.		Answers
1)	Faye bought 1 screen protector, 3 cases and 1 charger at the phone store. The screen protector cost \$5.20, the cases cost \$2.25 a piece and the charger was \$5.55. If she paid	1	\$2.50
	with a twenty dollar bill, how much change should she get back? $(5.20 \times 1=5.20)+(2.25 \times 3=6.75)+(5.55 \times 1=5.55)=17.50$	2	\$8.95
2)	Oliver bought 3 watermelons, 2 bags of cherries and 1 pineapple at a fruit stand. The watermelons cost \$2.15 each, the bags of cherries cost \$0.80 a piece and the pineapple was	3	\$5.70
	\$3.00. If he paid with a twenty dollar bill, how much change should he get back? $(2.15\times3=6.45)+(0.80\times2=1.60)+(3.00\times1=3.00)=11.05$	4	\$3.05
3)	Janet bought 1 gift bag, 2 boxes of candy canes and 2 boxes of ornaments at the Santa Store. The gift bag cost \$5.00, the boxes of candy canes cost \$2.00 a piece and the boxes of	5	\$10.75
	ornaments were each \$2.65. If she paid with a twenty dollar bill, how much change should she get back?	6	\$15.60
4)	$(5.00 \times 1=5.00)+(2.00 \times 2=4.00)+(2.65 \times 2=5.30)=14.30$ Frank bought 1 strategy guide, 3 posters and 1 used game at the game store. The strategy	7	\$0.05
	guide cost \$7.50, the posters cost \$1.75 a piece and the used game was \$4.20. If he paid with a twenty dollar bill, how much change should he get back? $(7.50\times1=7.50)+(1.75\times3=5.25)+(4.20\times1=4.20)=16.95$	8	\$3.00
<b>5</b> )		9.	\$10.45
5)	Cody bought 2 bowls, 2 plates and 1 cup at a store. The bowls cost \$2.35 each, the plates cost \$1.45 a piece and the cup was \$1.65. If he paid with a twenty dollar bill, how much change should he get back? ( $2.35 \times 2=4.70$ )+( $1.45 \times 2=2.90$ )+( $1.65 \times 1=1.65$ )=9.25		
6)	Haley bought 1 eraser, 2 pencils and 2 pens at the school shop. The eraser cost \$0.60, the pencils cost \$1.35 a piece and the pens were each \$0.55. If she paid with a twenty dollar bill, how much change should she get back? $(0.60 \times 1=0.60)+(1.35 \times 2=2.70)+(0.55 \times 2=1.10)=4.40$		
7)	Maria bought 3 hats, 2 hotdogs and 1 soda at the baseball game. The hats cost \$5.05 each, the hotdogs cost \$1.55 a piece and the soda was \$1.70. If she paid with a twenty dollar bill, how much change should she get back? ( $5.05 \times 3=15.15$ )+( $1.55 \times 2=3.10$ )+( $1.70 \times 1=1.70$ )=19.95		
8)	Vanessa bought 2 hamburgers, 3 hotdogs and 2 sodas at the state fair. The hamburgers cost \$3.80 each, the hotdogs cost \$1.30 a piece and the sodas were each \$2.75. If she paid with a twenty dollar bill, how much change should she get back? $(3.80\times2=7.60)+(1.30\times3=3.90)+(2.75\times2=5.50)=17.00$		
9)	Will bought 3 baseballs, 2 footballs and 3 soccer balls at the sports store. The baseballs cost \$1.60 each, the footballs cost \$2.30 a piece and the soccer balls were each \$0.05. If he paid with a twenty dollar bill, how much change should he get back? $(1.60\times3=4.80)+(2.30\times2=4.60)+(0.05\times3=0.15)=9.55$		

	Dete	ermining Chang	e - Multiple Cos	ts , Multiple Iten	ns Name:	
Solv	ve each problem			ts, intercipie iter		Answers
	\$10.45 \$8.95	\$5.70 \$0.05	\$15.60 \$3.05	\$2.50 \$10.75	\$3.00	1
1)	protector cost \$	5.20, the cases cos		r at the phone store the charger was \$5 ne get back?		2 3
2)	watermelons co	st \$2.15 each, the	bags of cherries co	1 pineapple at a fru st \$0.80 a piece and change should he g	l the pineapple was	4.    5.
3)	Store. The gift b	bag cost \$5.00, the	boxes of candy can	2 boxes of ornamen nes cost \$2.00 a pie 7 dollar bill, how m	ece and the boxes of	6.    7.
4)	guide cost \$7.50	), the posters cost	-	game at the game st he used game was \$ e get back?		8 9
5)	• •	ce and the cup was	-	The bowls cost \$2.3 with a twenty dollar	· •	
6)	pencils cost \$1.	-	pens were each \$0	nool shop. The eras .55. If she paid with		
7)	the hotdogs cost	, 0	l the soda was \$1.7	eball game. The hat 0. If she paid with a	ts cost \$5.05 each, a twenty dollar bill,	
8)	\$3.80 each, the	hotdogs cost \$1.30	0	das were each \$2.7	he hamburgers cost 5. If she paid with	
9)	\$1.60 each, the	footballs cost \$2.3		occer balls were eac	e. The baseballs cost ch \$0.05. If he paid	
					1 10 00 80 70 60	

Solv	ve each problem.	Answers
1)	Gwen bought 1 gift bag, 1 box of candy canes and 1 box of ornaments at the Santa Store. The gift bag cost \$7.10, the box of candy canes cost \$1.35 and the box of ornaments was \$1.85. If she paid with a twenty dollar bill, how much change should she get back?	1 2.
2)	Lana bought 1 case, 2 screen protectors and 1 charger at the phone store. The case cost \$4.75, the screen protectors cost \$2.00 a piece and the charger was \$5.25. If she paid with a twenty dollar bill, how much change should she get back?	3
3)	Janet bought 1 hamburger, 1 hotdog and 1 soda at the state fair. The hamburger cost \$3.65, the hotdog cost \$1.20 and the soda was \$1.70. If she paid with a twenty dollar bill, how much change should she get back?	5.      6.
4)	George bought 1 toy car, 2 action figures and 3 board games at the toy store. The toy car cost \$5.30, the action figures cost \$1.65 a piece and the board games were each \$1.30. If he paid with a twenty dollar bill, how much change should he get back?	7.      8.
5)	Adam bought 1 soccer ball, 3 footballs and 1 baseball at the sports store. The soccer ball cost \$4.80, the footballs cost \$1.45 a piece and the baseball was \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	9
6)	Emily bought 1 eraser, 1 pencil and 2 pens at the school shop. The eraser cost \$0.60, the pencil cost \$1.15 and the pens were each \$0.65. If she paid with a twenty dollar bill, how much change should she get back?	
7)	Cody bought 1 muffin, 1 cookie and 3 brownies at a bake sale. The muffin cost \$0.60, the cookie cost \$1.30 and the brownies were each \$1.75. If he paid with a twenty dollar bill, how much change should he get back?	
8)	Maria bought 2 posters, 3 books and 1 bookmark at the school book fair. The posters cost \$3.50 each, the books cost \$3.40 a piece and the bookmark was \$1.35. If she paid with a twenty dollar bill, how much change should she get back?	
9)	Ned bought 3 watermelons, 3 bags of cherries and 1 pineapple at a fruit stand. The watermelons cost \$2.00 each, the bags of cherries cost \$1.45 a piece and the pineapple was \$2.90. If he paid with a twenty dollar bill, how much change should he get back?	

Math

Solv	ve each problem.		Answers
1)	Gwen bought 1 gift bag, 1 box of candy canes and 1 box of ornaments at the Santa Store. The gift bag cost \$7.10, the box of candy canes cost \$1.35 and the box of ornaments was	1	<b>\$9.70</b>
	\$1.85. If she paid with a twenty dollar bill, how much change should she get back? $(7.10\times1=7.10)+(1.35\times1=1.35)+(1.85\times1=1.85)=10.30$	2	\$6.00
2)	Lana bought 1 case, 2 screen protectors and 1 charger at the phone store. The case cost \$4.75, the screen protectors cost \$2.00 a piece and the charger was \$5.25. If she paid with a	3	\$13.45
	twenty dollar bill, how much change should she get back? $(4.75 \times 1=4.75)+(2.00 \times 2=4.00)+(5.25 \times 1=5.25)=14.00$	4	\$7.50
3)	Janet bought 1 hamburger, 1 hotdog and 1 soda at the state fair. The hamburger cost \$3.65, the hotdog cost \$1.20 and the soda was \$1.70. If she paid with a twenty dollar bill, how	5	\$10.80
	much change should she get back? $(3.65 \times 1=3.65)+(1.20 \times 1=1.20)+(1.70 \times 1=1.70)=6.55$	6	\$16.95
4)	George bought 1 toy car, 2 action figures and 3 board games at the toy store. The toy car cost \$5.30, the action figures cost \$1.65 a piece and the board games were each \$1.30. If he	7	\$12.85
	paid with a twenty dollar bill, how much change should he get back? $(5.30 \times 1=5.30)+(1.65 \times 2=3.30)+(1.30 \times 3=3.90)=12.50$	<sup>8.</sup> _	\$1.45
5)	Adam bought 1 soccer ball, 3 footballs and 1 baseball at the sports store. The soccer ball cost \$4.80, the footballs cost \$1.45 a piece and the baseball was \$0.05. If he paid with a twenty dollar bill, how much change should he get back? $(4.80 \times 1=4.80)+(1.45 \times 3=4.35)+(0.05 \times 1=0.05)=9.20$	9	\$6.75
6)	Emily bought 1 eraser, 1 pencil and 2 pens at the school shop. The eraser cost \$0.60, the pencil cost \$1.15 and the pens were each \$0.65. If she paid with a twenty dollar bill, how much change should she get back? $(0.60 \times 1=0.60)+(1.15 \times 1=1.15)+(0.65 \times 2=1.30)=3.05$		
7)	Cody bought 1 muffin, 1 cookie and 3 brownies at a bake sale. The muffin cost \$0.60, the cookie cost \$1.30 and the brownies were each \$1.75. If he paid with a twenty dollar bill, how much change should he get back? $(0.60 \times 1=0.60)+(1.30 \times 1=1.30)+(1.75 \times 3=5.25)=7.15$		
8)	Maria bought 2 posters, 3 books and 1 bookmark at the school book fair. The posters cost \$3.50 each, the books cost \$3.40 a piece and the bookmark was \$1.35. If she paid with a twenty dollar bill, how much change should she get back? ( $3.50 \times 2=7.00$ )+( $3.40 \times 3=10.20$ )+( $1.35 \times 1=1.35$ )=18.55		
<b>9</b> )	Ned bought 3 watermelons, 3 bags of cherries and 1 pineapple at a fruit stand. The watermelons cost \$2.00 each, the bags of cherries cost \$1.45 a piece and the pineapple was \$2.90. If he paid with a twenty dollar bill, how much change should he get back? $(2.00\times3=6.00)+(1.45\times3=4.35)+(2.90\times1=2.90)=13.25$		

Math

	Det	ermining Change	e - Multiple Cos	sts , Multiple Ite	ms Name:	
Sol	ve each problem		1			Answers
$\left( \right)$	\$9.70 \$12.85	\$7.50 \$10.80	\$6.75 \$1.45	\$6.00 \$16.95	\$13.45	1
1)	The gift bag co	gift bag, 1 box of c st \$7.10, the box of id with a twenty do	candy canes cost	\$1.35 and the box	of ornaments was	2 3
2)	\$4.75, the scree	case, 2 screen prote en protectors cost \$2 ill, how much chan	2.00 a piece and the	ne charger was \$5.2	e. The case cost 25. If she paid with a	4 5
3)	the hotdog cost	hamburger, 1 hotdo \$1.20 and the soda hould she get back?	was \$1.70. If she		mburger cost \$3.65, / dollar bill, how	6 7
4)	cost \$5.30, the	1 toy car, 2 action t action figures cost 3 nty dollar bill, how	\$1.65 a piece and	the board games w	store. The toy car ere each \$1.30. If he	8 9
5)	cost \$4.80, the	soccer ball, 3 footh footballs cost \$1.45 ill, how much chan	a piece and the b	aseball was \$0.05.		
6)	pencil cost \$1.1	eraser, 1 pencil an 5 and the pens wer hould she get back?	e each \$0.65. If sh	-		
7)	cookie cost \$1.	muffin, 1 cookie ar 30 and the brownie age should he get ba	s were each \$1.75		ffin cost \$0.60, the twenty dollar bill,	
8)	\$3.50 each, the	posters, 3 books ar books cost \$3.40 a ill, how much chan	piece and the boo	kmark was \$1.35.	ir. The posters cost If she paid with a	
<b>9</b> )	watermelons co	vatermelons, 3 bags ost \$2.00 each, the b d with a twenty dol	bags of cherries co	st \$1.45 a piece an	d the pineapple was	

Math

	Determining change manupre costs , manupre items manue.	
Solv	ve each problem.	<u>Answers</u>
1)	Dave bought 3 toy cars, 2 action figures and 2 board games at the toy store. The toy cars cost \$3.95 each, the action figures cost \$2.25 a piece and the board games were each \$1.25.	1
	If he paid with a twenty dollar bill, how much change should he get back?	2
2)	Rachel bought 1 box of ornaments, 3 boxes of candy canes and 3 gift bags at the Santa Store. The box of ornaments cost \$7.35, the boxes of candy canes cost \$1.55 a piece and	3
	the gift bags were each \$1.15. If she paid with a twenty dollar bill, how much change should she get back?	4
3)	George bought 1 strategy guide, 1 poster and 2 used games at the game store. The strategy	5
	guide cost \$6.90, the poster cost \$5.80 and the used games were each \$1.45. If he paid with a twenty dollar bill, how much change should he get back?	6
4)	Paige bought 1 can of cheese dip, 1 bag of chips and 3 sodas at the grocery store. The can	7
	of cheese dip cost \$3.65, the bag of chips cost \$3.25 and the sodas were each \$1.50. If she paid with a twenty dollar bill, how much change should she get back?	8
5)	Tom bought 1 screw driver, 2 wrenches and 2 hammers at a hardware store. The screw	9
5)	driver cost \$6.90, the wrenches cost \$0.60 a piece and the hammers were each \$0.70. If he paid with a twenty dollar bill, how much change should he get back?	
6)	Janet bought 2 sodas, 2 hotdogs and 1 hat at the baseball game. The sodas cost \$5.35 each, the hotdogs cost \$1.10 a piece and the hat was \$3.85. If she paid with a twenty dollar bill, how much change should she get back?	
7)	Frank bought 1 T-shirt, 1 hoodie and 1 jacket at the clothing store. The T-shirt cost \$5.40, the hoodie cost \$6.90 and the jacket was \$7.65. If he paid with a twenty dollar bill, how much change should he get back?	
8)	Jerry bought 3 watermelons, 2 pineapples and 2 bags of cherries at a fruit stand. The watermelons cost \$2.55 each, the pineapples cost \$0.55 a piece and the bags of cherries were each \$3.20. If he paid with a twenty dollar bill, how much change should he get back?	
9)	Gwen bought 2 screen protectors, 1 case and 1 charger at the phone store. The screen protectors cost \$5.15 each, the case cost \$2.45 and the charger was \$5.15. If she paid with a twenty dollar bill, how much change should she get back?	

Math

	Determining Change - Multiple Costs, Multiple Items Name: All		i Key
olv	ze each problem.		Answers
1)	Dave bought 3 toy cars, 2 action figures and 2 board games at the toy store. The toy cars cost \$3.95 each, the action figures cost \$2.25 a piece and the board games were each \$1.25. If he paid with a twenty dollar bill, how much change should he get back?	1	\$1.15
	$(3.95 \times 3 = 11.85) + (2.25 \times 2 = 4.50) + (1.25 \times 2 = 2.50) = 18.85$	2	\$4.55
2)	Rachel bought 1 box of ornaments, 3 boxes of candy canes and 3 gift bags at the Santa Store. The box of ornaments cost \$7.35, the boxes of candy canes cost \$1.55 a piece and the gift bags were each \$1.15. If she paid with a twenty dollar bill, how much change	3	\$4.40
	should she get back? (7.35×1=7.35)+(1.55×3=4.65)+(1.15×3=3.45)=15.45	4	\$8.60
<b>3</b> )	George bought 1 strategy guide, 1 poster and 2 used games at the game store. The strategy guide cost \$6.90, the poster cost \$5.80 and the used games were each \$1.45. If he paid with	5	\$10.50
	a twenty dollar bill, how much change should he get back? $(6.90\times1=6.90)+(5.80\times1=5.80)+(1.45\times2=2.90)=15.60$	6	\$3.25
I)	Paige bought 1 can of cheese dip, 1 bag of chips and 3 sodas at the grocery store. The can	7	\$0.05
	of cheese dip cost \$3.65, the bag of chips cost \$3.25 and the sodas were each \$1.50. If she paid with a twenty dollar bill, how much change should she get back? $(3.65 \times 1=3.65)+(3.25 \times 1=3.25)+(1.50 \times 3=4.50)=11.40$	<sup>8.</sup> –	\$4.85
5)	Tom bought 1 screw driver, 2 wrenches and 2 hammers at a hardware store. The screw driver cost \$6.90, the wrenches cost \$0.60 a piece and the hammers were each \$0.70. If he paid with a twenty dollar bill, how much change should he get back? ( $6.90 \times 1 = 6.90$ )+( $0.60 \times 2 = 1.20$ )+( $0.70 \times 2 = 1.40$ )=9.50	<sup>9.</sup> _	\$2.10
5)	Janet bought 2 sodas, 2 hotdogs and 1 hat at the baseball game. The sodas cost \$5.35 each, the hotdogs cost \$1.10 a piece and the hat was \$3.85. If she paid with a twenty dollar bill, how much change should she get back? ( $5.35 \times 2=10.70$ )+( $1.10 \times 2=2.20$ )+( $3.85 \times 1=3.85$ )=16.75		
7)	Frank bought 1 T-shirt, 1 hoodie and 1 jacket at the clothing store. The T-shirt cost \$5.40, the hoodie cost \$6.90 and the jacket was \$7.65. If he paid with a twenty dollar bill, how much change should he get back? $(5.40 \times 1=5.40)+(6.90 \times 1=6.90)+(7.65 \times 1=7.65)=19.95$		
<b>B</b> )	Jerry bought 3 watermelons, 2 pineapples and 2 bags of cherries at a fruit stand. The watermelons cost \$2.55 each, the pineapples cost \$0.55 a piece and the bags of cherries were each \$3.20. If he paid with a twenty dollar bill, how much change should he get back? $(2.55 \times 3=7.65)+(0.55 \times 2=1.10)+(3.20 \times 2=6.40)=15.15$		
9)	Gwen bought 2 screen protectors, 1 case and 1 charger at the phone store. The screen protectors cost \$5.15 each, the case cost \$2.45 and the charger was \$5.15. If she paid with a twenty dollar bill, how much change should she get back? $(5.15 \times 2 = 10.30) + (2.45 \times 1 = 2.45) + (5.15 \times 1 = 5.15) = 17.90$		

Math

	Det	termining Change	e - Multiple Cos	ts Multiple Iter	ns Name:	
Sol	ve each problem	<u> </u>				Answers
ſ	\$4.55	\$10.50	\$4.40	\$8.60	\$2.10	
	\$4.85	\$1.15	\$0.05	\$3.25		1
1)	cost \$3.95 eacl	toy cars, 2 action fi h, the action figures a twenty dollar bill	cost \$2.25 a piece	and the board gam	es were each \$1.25.	2 3
2)	Store. The box	1 box of ornaments of ornaments cost 5 rere each \$1.15. If sh back?	7.35, the boxes of	candy canes cost \$	S1.55 a piece and	4 5
3)	guide cost \$6.9	t 1 strategy guide, 1 90, the poster cost \$2 t bill, how much cha	5.80 and the used g	games were each \$1	store. The strategy 1.45. If he paid with	6.      7.
4)	of cheese dip c	can of cheese dip, cost \$3.65, the bag o enty dollar bill, how	f chips cost \$3.25	and the sodas were	-	8 9
5)	driver cost \$6.	screw driver, 2 wrea 90, the wrenches co enty dollar bill, how	st \$0.60 a piece an	d the hammers wer		
6)	the hotdogs co	sodas, 2 hotdogs ar st \$1.10 a piece and nge should she get b	the hat was \$3.85.	U U		
7)	the hoodie cos	I T-shirt, 1 hoodie a t \$6.90 and the jack should he get back?	5	ē		
8)	watermelons c	watermelons, 2 pine ost \$2.55 each, the p 20. If he paid with a	pineapples cost \$0.	55 a piece and the		
9)	protectors cost	2 screen protectors, \$5.15 each, the cas bill, how much chan	e cost \$2.45 and th	e charger was \$5.1	re. The screen 5. If she paid with a	

Solv	ze each problem.		Answers
1)	Debby bought 1 can of cheese dip, 2 sodas and 3 bags of chips at the grocery store. The can of cheese dip cost \$3.25, the sodas cost \$2.05 a piece and the bags of chips were each \$1.80. If she paid with a twenty dollar bill, how much change should she get back?	1	
2)	Olivia bought 1 charger, 1 case and 1 screen protector at the phone store. The charger cost \$4.00, the case cost \$2.25 and the screen protector was \$5.25. If she paid with a twenty dollar bill, how much change should she get back?	2 3 4	
3)	Vanessa bought 1 hard cover book, 1 bookmark and 1 soft back book at the book store. The hard cover book cost \$5.85, the bookmark cost \$3.95 and the soft back book was \$1.45. If she paid with a twenty dollar bill, how much change should she get back?	5	
4)	George bought 1 brownie, 2 muffins and 3 cookies at a bake sale. The brownie cost \$0.65, the muffins cost \$1.15 a piece and the cookies were each \$1.65. If he paid with a twenty dollar bill, how much change should he get back?	7	
5)	Janet bought 1 hotdog, 2 sodas and 3 hats at the baseball game. The hotdog cost \$5.00, the sodas cost \$2.55 a piece and the hats were each \$2.45. If she paid with a twenty dollar bill, how much change should she get back?	9	
6)	Dave bought 1 hoodie, 1 jacket and 1 T-shirt at the clothing store. The hoodie cost \$4.40, the jacket cost \$5.55 and the T-shirt was \$7.10. If he paid with a twenty dollar bill, how much change should he get back?		
7)	Sam bought 3 wrenches, 1 screw driver and 1 hammer at a hardware store. The wrenches cost \$5.55 each, the screw driver cost \$1.00 and the hammer was \$0.90. If he paid with a twenty dollar bill, how much change should he get back?		
8)	John bought 3 pineapples, 1 watermelon and 2 bags of cherries at a fruit stand. The pineapples cost \$2.15 each, the watermelon cost \$1.45 and the bags of cherries were each \$2.30. If he paid with a twenty dollar bill, how much change should he get back?		
9)	Bianca bought 2 sodas, 3 hotdogs and 3 hamburgers at the state fair. The sodas cost \$3.00 each, the hotdogs cost \$1.50 a piece and the hamburgers were each \$1.70. If she paid with a twenty dollar bill, how much change should she get back?		

Math

	Determining Change - Multiple Costs, Multiple Items Name: An		er Key
Solv	ze each problem.		Answers
1)	Debby bought 1 can of cheese dip, 2 sodas and 3 bags of chips at the grocery store. The can of cheese dip cost \$3.25, the sodas cost \$2.05 a piece and the bags of chips were each	1	\$7.25
	\$1.80. If she paid with a twenty dollar bill, how much change should she get back? $(3.25\times1=3.25)+(2.05\times2=4.10)+(1.80\times3=5.40)=12.75$	2	\$8.50
2)	Olivia bought 1 charger, 1 case and 1 screen protector at the phone store. The charger cost \$4.00, the case cost \$2.25 and the screen protector was \$5.25. If she paid with a twenty	3	\$8.75
	dollar bill, how much change should she get back? $(4.00 \times 1=4.00)+(2.25 \times 1=2.25)+(5.25 \times 1=5.25)=11.50$	4	\$12.10
3)	Vanessa bought 1 hard cover book, 1 bookmark and 1 soft back book at the book store. The hard cover book cost \$5.85, the bookmark cost \$3.95 and the soft back book was \$1.45. If	5	\$2.55
	she paid with a twenty dollar bill, how much change should she get back? $(5.85 \times 1=5.85)+(3.95 \times 1=3.95)+(1.45 \times 1=1.45)=11.25$	6	\$2.95
4)	George bought 1 brownie, 2 muffins and 3 cookies at a bake sale. The brownie cost \$0.65, the muffins cost \$1.15 a piece and the cookies were each \$1.65. If he paid with a twenty	7	\$1.45
	dollar bill, how much change should he get back? $(0.65 \times 1=0.65)+(1.15 \times 2=2.30)+(1.65 \times 3=4.95)=7.90$	<sup>8.</sup> _	\$7.50
5)	Janet bought 1 hotdog, 2 sodas and 3 hats at the baseball game. The hotdog cost \$5.00, the sodas cost \$2.55 a piece and the hats were each \$2.45. If she paid with a twenty dollar bill, how much change should she get back? $(5.00 \times 1=5.00)+(2.55 \times 2=5.10)+(2.45 \times 3=7.35)=17.45$	9	\$4.40
6)	Dave bought 1 hoodie, 1 jacket and 1 T-shirt at the clothing store. The hoodie cost \$4.40, the jacket cost \$5.55 and the T-shirt was \$7.10. If he paid with a twenty dollar bill, how much change should he get back? $(4.40 \times 1=4.40)+(5.55 \times 1=5.55)+(7.10 \times 1=7.10)=17.05$		
7)	Sam bought 3 wrenches, 1 screw driver and 1 hammer at a hardware store. The wrenches cost \$5.55 each, the screw driver cost \$1.00 and the hammer was \$0.90. If he paid with a twenty dollar bill, how much change should he get back? ( $5.55 \times 3 = 16.65$ )+( $1.00 \times 1 = 1.00$ )+( $0.90 \times 1 = 0.90$ )=18.55		
<b>B</b> )	John bought 3 pineapples, 1 watermelon and 2 bags of cherries at a fruit stand. The pineapples cost \$2.15 each, the watermelon cost \$1.45 and the bags of cherries were each \$2.30. If he paid with a twenty dollar bill, how much change should he get back? $(2.15 \times 3=6.45)+(1.45 \times 1=1.45)+(2.30 \times 2=4.60)=12.50$		
9)	Bianca bought 2 sodas, 3 hotdogs and 3 hamburgers at the state fair. The sodas cost \$3.00 each, the hotdogs cost \$1.50 a piece and the hamburgers were each \$1.70. If she paid with a twenty dollar bill, how much change should she get back? $(3.00 \times 2=6.00)+(1.50 \times 3=4.50)+(1.70 \times 3=5.10)=15.60$		

		rmining Change	e - Multiple Cos	sts, Multiple Ite	ems Name:	
Sol	ve each problem.	•				Answers
	\$7.25	\$2.95	\$8.50	\$7.50	\$12.10	
	\$4.40	\$1.45	\$8.75	\$2.55		1
1)	of cheese dip co	can of cheese dip, st \$3.25, the sodas d with a twenty do	cost \$2.05 a piece	e and the bags of c	- 1	23
2)	\$4.00, the case of	charger, 1 case and cost \$2.25 and the much change shou	screen protector w		re. The charger cost iid with a twenty	4
3)	hard cover book		okmark cost \$3.95	5 and the soft back	at the book store. The book was \$1.45. If ck?	6 7
4)		brownie cost \$0.65, baid with a twenty	8			
5)	sodas cost \$2.55	•	ats were each \$2.4	U	tdog cost \$5.00, the a twenty dollar bill,	
6)	the jacket cost \$	noodie, 1 jacket and 5.55 and the T-shi ould he get back?		-	hoodie cost \$4.40, y dollar bill, how	
7)	cost \$5.55 each,		ost \$1.00 and the	hammer was \$0.90	ore. The wrenches ). If he paid with a	
8)	pineapples cost	ineapples, 1 water \$2.15 each, the wa l with a twenty dol	termelon cost \$1.4	15 and the bags of	cherries were each	
9)	each, the hotdog	-	e and the hamburg	gers were each \$1.	he sodas cost \$3.00 70. If she paid with	

Solv	ve each problem.	<u>Answers</u>
1)	Sarah bought 1 box of ornaments, 1 gift bag and 3 boxes of candy canes at the Santa Store. The box of ornaments cost \$6.80, the gift bag cost \$2.15 and the boxes of candy canes were each \$2.55. If she paid with a twenty dollar bill, how much change should she get back?	1
2)	Ned bought 2 soccer balls, 1 baseball and 1 football at the sports store. The soccer balls cost \$3.65 each, the baseball cost \$1.85 and the football was \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	2 3 4.
3)	Bianca bought 1 soda, 3 cans of cheese dip and 2 bags of chips at the grocery store. The soda cost \$2.05, the cans of cheese dip cost \$3.35 a piece and the bags of chips were each \$1.70. If she paid with a twenty dollar bill, how much change should she get back?	5.    6.
4)	Kaleb bought 1 watermelon, 1 pineapple and 1 bag of cherries at a fruit stand. The watermelon cost \$2.50, the pineapple cost \$0.50 and the bag of cherries was \$2.80. If he paid with a twenty dollar bill, how much change should he get back?	7.      8.
5)	Adam bought 1 muffin, 3 brownies and 2 cookies at a bake sale. The muffin cost \$1.05, the brownies cost \$0.85 a piece and the cookies were each \$1.50. If he paid with a twenty dollar bill, how much change should he get back?	9
6)	Olivia bought 1 bookmark, 2 hard cover books and 2 soft back books at the book store. The bookmark cost \$5.80, the hard cover books cost \$2.35 a piece and the soft back books were each \$1.15. If she paid with a twenty dollar bill, how much change should she get back?	
7)	Sam bought 1 box of candy, 1 soda and 2 bags of popcorn at the theater. The box of candy cost \$7.30, the soda cost \$1.65 and the bags of popcorn were each \$2.80. If he paid with a twenty dollar bill, how much change should he get back?	
8)	Amy bought 2 hats, 3 hotdogs and 1 soda at the baseball game. The hats cost \$4.95 each, the hotdogs cost \$2.20 a piece and the soda was \$1.25. If she paid with a twenty dollar bill, how much change should she get back?	
9)	Paul bought 2 hammers, 3 wrenches and 1 screw driver at a hardware store. The hammers cost \$6.00 each, the wrenches cost \$0.55 a piece and the screw driver was \$0.75. If he paid with a twenty dollar bill, how much change should he get back?	
		1

Math

Solv	ve each problem.		Answers
1)	Sarah bought 1 box of ornaments, 1 gift bag and 3 boxes of candy canes at the Santa Store. The box of ornaments cost \$6.80, the gift bag cost \$2.15 and the boxes of candy canes were	1	\$3.40
	each \$2.55. If she paid with a twenty dollar bill, how much change should she get back? $(6.80\times1=6.80)+(2.15\times1=2.15)+(2.55\times3=7.65)=16.60$	2	\$10.80
2)	Ned bought 2 soccer balls, 1 baseball and 1 football at the sports store. The soccer balls cost \$3.65 each, the baseball cost \$1.85 and the football was \$0.05. If he paid with a twenty	3	\$4.50
	lar bill, how much change should he get back? $55 \times 2 = 7.30 + (1.85 \times 1 = 1.85) + (0.05 \times 1 = 0.05) = 9.20$		\$14.20
3)	Bianca bought 1 soda, 3 cans of cheese dip and 2 bags of chips at the grocery store. The	5	\$13.40
	soda cost \$2.05, the cans of cheese dip cost \$3.35 a piece and the bags of chips were each \$1.70. If she paid with a twenty dollar bill, how much change should she get back? $(2.05 \times 1=2.05)+(3.35 \times 3=10.05)+(1.70 \times 2=3.40)=15.50$	6	\$7.20
4)	Kaleb bought 1 watermelon, 1 pineapple and 1 bag of cherries at a fruit stand. The	7	\$5.45
	watermelon cost \$2.50, the pineapple cost \$0.50 and the bag of cherries was \$2.80. If he paid with a twenty dollar bill, how much change should he get back? (2.50, 1, 2.50) + (0.50, 1, 0.50) + (2.80, 1, 2.80) + 5.80	8	\$2.25
5)	(2.50×1=2.50)+(0.50×1=0.50)+(2.80×1=2.80)=5.80 Adam bought 1 muffin, 3 brownies and 2 cookies at a bake sale. The muffin cost \$1.05, the	9	\$5.60
5)	Adam bought 1 multin, 5 brownes and 2 cookies at a bake sale. The multin cost \$1.05, the brownies cost \$0.85 a piece and the cookies were each \$1.50. If he paid with a twenty dollar bill, how much change should he get back? $(1.05 \times 1=1.05)+(0.85 \times 3=2.55)+(1.50 \times 2=3.00)=6.60$		
6)	Olivia bought 1 bookmark, 2 hard cover books and 2 soft back books at the book store. The bookmark cost \$5.80, the hard cover books cost \$2.35 a piece and the soft back books were each \$1.15. If she paid with a twenty dollar bill, how much change should she get back? $(5.80 \times 1=5.80)+(2.35 \times 2=4.70)+(1.15 \times 2=2.30)=12.80$		
7)	Sam bought 1 box of candy, 1 soda and 2 bags of popcorn at the theater. The box of candy cost \$7.30, the soda cost \$1.65 and the bags of popcorn were each \$2.80. If he paid with a twenty dollar bill, how much change should he get back? $(7.30 \times 1=7.30)+(1.65 \times 1=1.65)+(2.80 \times 2=5.60)=14.55$		
8)	Amy bought 2 hats, 3 hotdogs and 1 soda at the baseball game. The hats cost \$4.95 each, the hotdogs cost \$2.20 a piece and the soda was \$1.25. If she paid with a twenty dollar bill, how much change should she get back? $(4.95 \times 2=9.90)+(2.20 \times 3=6.60)+(1.25 \times 1=1.25)=17.75$		
<b>9</b> )	Paul bought 2 hammers, 3 wrenches and 1 screw driver at a hardware store. The hammers cost \$6.00 each, the wrenches cost \$0.55 a piece and the screw driver was \$0.75. If he paid with a twenty dollar bill, how much change should he get back? ( $6.00 \times 2 = 12.00$ )+( $0.55 \times 3 = 1.65$ )+( $0.75 \times 1 = 0.75$ )=14.40		

Math

	Det	ermining Change	e - Multiple Cos	ts , Multiple Iter	ns Name:	
Sol	ve each problem	<u> </u>	1			Answers
	\$7.20 \$5.45	\$13.40 \$3.40	\$5.60 \$14.20	\$10.80 \$2.25	\$4.50	1
1)	The box of orna		the gift bag cost \$2	2.15 and the boxes of	s at the Santa Store. of candy canes were ald she get back?	2 3
2)	cost \$3.65 each	occer balls, 1 baseb , the baseball cost S much change shou	\$1.85 and the footh	-	The soccer balls e paid with a twenty	4 5
3)	soda cost \$2.05	1 soda, 3 cans of ch , the cans of cheese id with a twenty do	e dip cost \$3.35 a p	piece and the bags of	of chips were each	6 7
4)	watermelon cos	watermelon, 1 pinest \$2.50, the pineap nty dollar bill, how	ple cost \$0.50 and	the bag of cherries		8.    9.
5)	brownies cost \$	muffin, 3 brownie 60.85 a piece and th much change shou	e cookies were ead		uffin cost \$1.05, the with a twenty	
6)	bookmark cost		er books cost \$2.3	5 a piece and the so	the book store. The oft back books were ild she get back?	
7)	cost \$7.30, the	box of candy, 1 sod soda cost \$1.65 and ill, how much chan	I the bags of popco	orn were each \$2.80	•	
8)	the hotdogs cos	hats, 3 hotdogs and at \$2.20 a piece and age should she get b	the soda was \$1.2	-	s cost \$4.95 each, a twenty dollar bill,	
9)	cost \$6.00 each	nammers, 3 wrench , the wrenches cost ollar bill, how muc	\$0.55 a piece and	the screw driver w	ore. The hammers as \$0.75. If he paid	

	Determining change intercipie costs, intercipie items intane.	
Solv	ze each problem.	<u>Answers</u>
1)	Janet bought 1 case, 3 chargers and 1 screen protector at the phone store. The case cost \$4.20, the chargers cost \$2.80 a piece and the screen protector was \$5.80. If she paid with a	1
	twenty dollar bill, how much change should she get back?	2
2)	Edward bought 3 watermelons, 1 pineapple and 3 bags of cherries at a fruit stand. The watermelons cost \$2.60 each, the pineapple cost \$1.60 and the bags of cherries were each	3
	\$2.15. If he paid with a twenty dollar bill, how much change should he get back?	4
3)	Faye bought 3 sodas, 2 hotdogs and 3 hamburgers at the state fair. The sodas cost \$2.80 each, the hotdogs cost \$1.20 a piece and the hamburgers were each \$2.25. If she paid with a twenty dollar bill, how much change should she get back?	5
	a twenty donar oni, now much change should she get back?	6
4)	Vanessa bought 1 bag of candy, 3 boxes of chocolate and 1 large lollipop at the candy store. The bag of candy cost \$3.40, the boxes of chocolate cost \$3.05 a piece and the large lollipop was \$1.95. If she paid with a twenty dollar bill, how much change should she get	8.
	back?	9
5)	Mike bought 3 brownies, 1 cookie and 2 muffins at a bake sale. The brownies cost \$1.40 each, the cookie cost \$1.00 and the muffins were each \$2.00. If he paid with a twenty dollar bill, how much change should he get back?	
6)	Cody bought 1 bag of popcorn, 1 soda and 2 boxes of candy at the theater. The bag of popcorn cost \$4.15, the soda cost \$2.00 and the boxes of candy were each \$4.50. If he paid with a twenty dollar bill, how much change should he get back?	
7)	Robin bought 3 sodas, 1 bag of chips and 3 cans of cheese dip at the grocery store. The sodas cost \$2.05 each, the bag of chips cost \$2.00 and the cans of cheese dip were each \$1.60. If she paid with a twenty dollar bill, how much change should she get back?	
8)	Billy bought 1 football, 1 soccer ball and 2 baseballs at the sports store. The football cost \$3.90, the soccer ball cost \$1.25 and the baseballs were each \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	
9)	Ned bought 2 cups, 3 bowls and 1 plate at a store. The cups cost \$2.85 each, the bowls cost \$1.65 a piece and the plate was \$3.95. If he paid with a twenty dollar bill, how much change should he get back?	

Math

	Determining Change - Multiple Costs, Multiple Items Name: A	nsw	er Key
olv	ve each problem.		Answers
1)	Janet bought 1 case, 3 chargers and 1 screen protector at the phone store. The case cost \$4.20, the chargers cost \$2.80 a piece and the screen protector was \$5.80. If she paid with a twenty dollar bill, how much change should she get back?	1	\$1.60
	(4.20×1=4.20)+(2.80×3=8.40)+(5.80×1=5.80)=18.40	2.	\$4.15
2)	Edward bought 3 watermelons, 1 pineapple and 3 bags of cherries at a fruit stand. The watermelons cost \$2.60 each, the pineapple cost \$1.60 and the bags of cherries were each \$2.15. If he peid with a twenty dollar hill how much shance should be get heal?	3	\$2.45
	\$2.15. If he paid with a twenty dollar bill, how much change should he get back? $(2.60\times3=7.80)+(1.60\times1=1.60)+(2.15\times3=6.45)=15.85$	4	\$5.50
<b>B</b> )	Faye bought 3 sodas, 2 hotdogs and 3 hamburgers at the state fair. The sodas cost \$2.80 each, the hotdogs cost \$1.20 a piece and the hamburgers were each \$2.25. If she paid with	5	\$10.80
	a twenty dollar bill, how much change should she get back? $(2.80\times3=8.40)+(1.20\times2=2.40)+(2.25\times3=6.75)=17.55$	6	\$4.85
<b>I</b> )	Vanessa bought 1 bag of candy, 3 boxes of chocolate and 1 large lollipop at the candy store. The bag of candy cost \$3.40, the boxes of chocolate cost \$3.05 a piece and the large	7	\$7.05
	lollipop was \$1.95. If she paid with a twenty dollar bill, how much change should she get back? $(3.40 \times 1=3.40)+(3.05 \times 3=9.15)+(1.95 \times 1=1.95)=14.50$	8.	\$14.75 \$5.40
5)	Mike bought 3 brownies, 1 cookie and 2 muffins at a bake sale. The brownies cost \$1.40 each, the cookie cost \$1.00 and the muffins were each \$2.00. If he paid with a twenty dollar bill, how much change should he get back? $(1.40\times3=4.20)+(1.00\times1=1.00)+(2.00\times2=4.00)=9.20$	9	φ <b>σ.τυ</b>
6)	Cody bought 1 bag of popcorn, 1 soda and 2 boxes of candy at the theater. The bag of popcorn cost \$4.15, the soda cost \$2.00 and the boxes of candy were each \$4.50. If he paid with a twenty dollar bill, how much change should he get back? $(4.15 \times 1=4.15)+(2.00 \times 1=2.00)+(4.50 \times 2=9.00)=15.15$		
)	Robin bought 3 sodas, 1 bag of chips and 3 cans of cheese dip at the grocery store. The sodas cost \$2.05 each, the bag of chips cost \$2.00 and the cans of cheese dip were each \$1.60. If she paid with a twenty dollar bill, how much change should she get back? $(2.05\times3=6.15)+(2.00\times1=2.00)+(1.60\times3=4.80)=12.95$		
6)	Billy bought 1 football, 1 soccer ball and 2 baseballs at the sports store. The football cost \$3.90, the soccer ball cost \$1.25 and the baseballs were each \$0.05. If he paid with a twenty dollar bill, how much change should he get back? $(3.90 \times 1=3.90)+(1.25 \times 1=1.25)+(0.05 \times 2=0.10)=5.25$		
9)	Ned bought 2 cups, 3 bowls and 1 plate at a store. The cups cost \$2.85 each, the bowls cost \$1.65 a piece and the plate was \$3.95. If he paid with a twenty dollar bill, how much change should he get back? ( $2.85 \times 2=5.70$ )+( $1.65 \times 3=4.95$ )+( $3.95 \times 1=3.95$ )=14.60		

	Dete	ermining Change	e - Multiple Cos	ts . Multiple Iter	ns Name:	
Sol	ve each problem	<u> </u>	FC	,		Answers
$\left[ \right]$	\$2.45 \$5.40	\$7.05 \$10.80	\$4.85 \$14.75	\$5.50 \$4.15	\$1.60	1
1)	Janet bought 1 c \$4.20, the charg	case, 3 chargers and	d 1 screen protecto ece and the screen	r at the phone store protector was \$5.8	e. The case cost 0. If she paid with a	1.
2)	watermelons co	3 watermelons, 1 g st \$2.60 each, the g l with a twenty dol	pineapple cost \$1.6	0 and the bags of c	cherries were each	4.    5.
3)	each, the hotdog	odas, 2 hotdogs an gs cost \$1.20 a piec bill, how much cha	e and the hamburg	gers were each \$2.2	sodas cost \$2.80 25. If she paid with	6.      7.
4)	store. The bag o	1 bag of candy, 3 of candy cost \$3.40 95. If she paid with	, the boxes of choc	colate cost \$3.05 a	piece and the large	8 9
5)	each, the cookie	prownies, 1 cookie cost \$1.00 and the much change shou	e muffins were eac			
6)	popcorn cost \$4	bag of popcorn, 1 s .15, the soda cost S ollar bill, how muc	\$2.00 and the boxe	s of candy were ea	ter. The bag of ch \$4.50. If he paid	
7)	sodas cost \$2.05	sodas, 1 bag of ch 5 each, the bag of c id with a twenty do	hips cost \$2.00 and	d the cans of chees	e dip were each	
8)	\$3.90, the socce	football, 1 soccer b or ball cost \$1.25 an ll, how much chan	nd the baseballs we	ere each \$0.05. If h		
9)	-	nd the plate was \$3	-	-	each, the bowls cost ll, how much	

$\Box$	Determining Change - Multiple Costs , Multiple Items Name:	
Solv	ze each problem.	<u>Answers</u>
1)	Dave bought 1 poster, 2 used games and 3 strategy guides at the game store. The poster cost \$7.50, the used games cost \$3.45 a piece and the strategy guides were each \$1.40. If he paid with a twenty dollar bill, how much change should he get back?	1
	Nancy bought 2 bags of candy, 3 large lollipops and 1 box of chocolate at the candy store. The bags of candy cost \$3.95 each, the large lollipops cost \$2.90 a piece and the box of	2 3
	chocolate was \$2.95. If she paid with a twenty dollar bill, how much change should she get back?	4
3)	Katie bought 3 cans of cheese dip, 1 bag of chips and 2 sodas at the grocery store. The cans of cheese dip cost \$3.10 each, the bag of chips cost \$2.45 and the sodas were each \$1.55. If she paid with a twenty dollar bill, how much change should she get back?	5 6
4)	Carol bought 2 sodas, 2 hotdogs and 3 hamburgers at the state fair. The sodas cost \$1.55 each, the hotdogs cost \$1.30 a piece and the hamburgers were each \$2.05. If she paid with a twenty dollar bill, how much change should she get back?	7
5)	Janet bought 2 cases, 1 charger and 1 screen protector at the phone store. The cases cost \$4.05 each, the charger cost \$2.10 and the screen protector was \$6.80. If she paid with a twenty dollar bill, how much change should she get back?	9
6)	John bought 3 soccer balls, 2 baseballs and 1 football at the sports store. The soccer balls cost \$3.75 each, the baseballs cost \$1.70 a piece and the football was \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	
7)	Oliver bought 2 bags of cherries, 2 pineapples and 2 watermelons at a fruit stand. The bags of cherries cost \$2.20 each, the pineapples cost \$1.85 a piece and the watermelons were each \$2.40. If he paid with a twenty dollar bill, how much change should he get back?	
8)	Emily bought 1 hat, 3 sodas and 3 hotdogs at the baseball game. The hat cost \$5.55, the sodas cost \$2.45 a piece and the hotdogs were each \$1.50. If she paid with a twenty dollar bill, how much change should she get back?	
<b>9</b> )	Frank bought 1 hoodie, 1 T-shirt and 1 jacket at the clothing store. The hoodie cost \$5.05, the T-shirt cost \$5.55 and the jacket was \$7.70. If he paid with a twenty dollar bill, how much change should he get back?	

Math

			I KEY
olv	e each problem.		Answers
l)	Dave bought 1 poster, 2 used games and 3 strategy guides at the game store. The poster cost \$7.50, the used games cost \$3.45 a piece and the strategy guides were each \$1.40. If he	1	\$1.40
	paid with a twenty dollar bill, how much change should he get back? $(7.50\times1=7.50)+(3.45\times2=6.90)+(1.40\times3=4.20)=18.60$	2	<b>\$0.45</b>
<b>;</b> )	Nancy bought 2 bags of candy, 3 large lollipops and 1 box of chocolate at the candy store. The bags of candy cost \$3.95 each, the large lollipops cost \$2.90 a piece and the box of chocolate was \$2.95. If she paid with a twenty dollar bill, how much change should she get		\$5.15
	back? $(3.95 \times 2=7.90)+(2.90 \times 3=8.70)+(2.95 \times 1=2.95)=19.55$	4	\$8.15
)	Katie bought 3 cans of cheese dip, 1 bag of chips and 2 sodas at the grocery store. The cans of cheese dip cost \$3.10 each, the bag of chips cost \$2.45 and the sodas were each \$1.55. If	5	\$3.00
	she paid with a twenty dollar bill, how much change should she get back? $(3.10\times3=9.30)+(2.45\times1=2.45)+(1.55\times2=3.10)=14.85$	6	\$5.30
)	Carol bought 2 sodas, 2 hotdogs and 3 hamburgers at the state fair. The sodas cost \$1.55	7	<b>\$7.10</b>
	each, the hotdogs cost \$1.30 a piece and the hamburgers were each \$2.05. If she paid with a twenty dollar bill, how much change should she get back? $(1.55\times2=3.10)+(1.30\times2=2.60)+(2.05\times3=6.15)=11.85$		\$2.60
		9.	<b>\$1.70</b>
)	Janet bought 2 cases, 1 charger and 1 screen protector at the phone store. The cases cost \$4.05 each, the charger cost \$2.10 and the screen protector was \$6.80. If she paid with a twenty dollar bill, how much change should she get back? $(4.05 \times 2=8.10)+(2.10 \times 1=2.10)+(6.80 \times 1=6.80)=17.00$		
)	John bought 3 soccer balls, 2 baseballs and 1 football at the sports store. The soccer balls cost \$3.75 each, the baseballs cost \$1.70 a piece and the football was \$0.05. If he paid with a twenty dollar bill, how much change should he get back? $(3.75\times3=11.25)+(1.70\times2=3.40)+(0.05\times1=0.05)=14.70$		
)	Oliver bought 2 bags of cherries, 2 pineapples and 2 watermelons at a fruit stand. The bags of cherries cost \$2.20 each, the pineapples cost \$1.85 a piece and the watermelons were each \$2.40. If he paid with a twenty dollar bill, how much change should he get back? $(2.20 \times 2=4.40)+(1.85 \times 2=3.70)+(2.40 \times 2=4.80)=12.90$		
)	Emily bought 1 hat, 3 sodas and 3 hotdogs at the baseball game. The hat cost \$5.55, the sodas cost \$2.45 a piece and the hotdogs were each \$1.50. If she paid with a twenty dollar bill, how much change should she get back? ( $5.55 \times 1=5.55$ )+( $2.45 \times 3=7.35$ )+( $1.50 \times 3=4.50$ )=17.40		
)	Frank bought 1 hoodie, 1 T-shirt and 1 jacket at the clothing store. The hoodie cost \$5.05, the T-shirt cost \$5.55 and the jacket was \$7.70. If he paid with a twenty dollar bill, how much change should he get back? $(5.05 \times 1=5.05)+(5.55 \times 1=5.55)+(7.70 \times 1=7.70)=18.30$		

Math

		ermining Change	e - Multiple Cos	ts , Multiple Iter	ns Name:	
Solve each problem.						Answers
$\square$	\$2.60	\$5.30	\$7.10	\$3.00	\$5.15	
	\$1.70	\$0.45	\$8.15	\$1.40		1
1)	Dave bought 1 poster, 2 used games and 3 strategy guides at the game store. The poster cost \$7.50, the used games cost \$3.45 a piece and the strategy guides were each \$1.40. If he paid with a twenty dollar bill, how much change should he get back?					2 3
2)	Nancy bought 2 bags of candy, 3 large lollipops and 1 box of chocolate at the candy store. The bags of candy cost \$3.95 each, the large lollipops cost \$2.90 a piece and the box of chocolate was \$2.95. If she paid with a twenty dollar bill, how much change should she get back?					4.    5.
3)	of cheese dip co	ost \$3.10 each, the	bag of chips cost \$	U	cery store. The cans were each \$1.55. If k?	6.    7.
4)	Carol bought 2 each, the hotdog a twenty dollar	8.      9.				
5)	\$4.05 each, the		and the screen pro	or at the phone store stector was \$6.80. I pack?		
6)	cost \$3.75 each,		\$1.70 a piece and		. The soccer balls 0.05. If he paid with	
7)	of cherries cost	\$2.20 each, the pir	neapples cost \$1.85	watermelons at a from a piece and the water water water and the water wa		
8)	sodas cost \$2.45		otdogs were each \$	eball game. The ha 61.50. If she paid w		
9)	the T-shirt cost		•	elothing store. The paid with a twenty		

Math

	Determining change Multiple Costs , Multiple Reins Mane.	
Solv	ve each problem.	<u>Answers</u>
1)	Tom bought 1 poster, 1 used game and 2 strategy guides at the game store. The poster cost \$6.95, the used game cost \$2.55 and the strategy guides were each \$2.35. If he paid with a	1
	twenty dollar bill, how much change should he get back?	2
2)	Janet bought 1 bookmark, 3 posters and 2 books at the school book fair. The bookmark cost \$3.55, the posters cost \$3.25 a piece and the books were each \$0.75. If she paid with a	3
	twenty dollar bill, how much change should she get back?	4
3)	Tiffany bought 1 gift bag, 2 boxes of ornaments and 2 boxes of candy canes at the Santa Store. The gift bag cost \$6.10, the boxes of ornaments cost \$2.00 a piece and the boxes of candy canes were each \$2.70. If she paid with a twenty dollar bill, how much change should she get back?	5
		6
4)	Isabel bought 3 erasers, 3 pens and 1 pencil at the school shop. The erasers cost \$0.50 each, the pens cost \$1.45 a piece and the pencil was \$1.00. If she paid with a twenty dollar bill, how much change should she get back?	7
		8
5)	Emily bought 2 hotdogs, 1 hat and 2 sodas at the baseball game. The hotdogs cost \$5.85 each, the hat cost \$1.75 and the sodas were each \$1.10. If she paid with a twenty dollar bill, how much change should she get back?	9
6)	Nancy bought 1 soda, 3 cans of cheese dip and 1 bag of chips at the grocery store. The soda cost \$3.35, the cans of cheese dip cost \$3.70 a piece and the bag of chips was \$1.25. If she paid with a twenty dollar bill, how much change should she get back?	
7)	Henry bought 1 hoodie, 1 jacket and 1 T-shirt at the clothing store. The hoodie cost \$4.20, the jacket cost \$6.50 and the T-shirt was \$7.35. If he paid with a twenty dollar bill, how much change should he get back?	
8)	Paul bought 1 box of candy, 2 bags of popcorn and 1 soda at the theater. The box of candy cost \$6.85, the bags of popcorn cost \$2.45 a piece and the soda was \$1.80. If he paid with a twenty dollar bill, how much change should he get back?	
9)	Luke bought 3 soccer balls, 2 footballs and 1 baseball at the sports store. The soccer balls cost \$1.65 each, the footballs cost \$2.25 a piece and the baseball was \$0.05. If he paid with a twenty dollar bill, how much change should he get back?	

Math

	Determining Change - Multiple Costs , Multiple Items Name: An		er key
olv	ve each problem.		Answers
1)	Tom bought 1 poster, 1 used game and 2 strategy guides at the game store. The poster cost \$6.95, the used game cost \$2.55 and the strategy guides were each \$2.35. If he paid with a twenty dollar bill, how much change should he get back?		\$5.80
	$(6.95 \times 1 = 6.95) + (2.55 \times 1 = 2.55) + (2.35 \times 2 = 4.70) = 14.20$	2	\$5.20
()	Janet bought 1 bookmark, 3 posters and 2 books at the school book fair. The bookmark cost \$3.55, the posters cost \$3.25 a piece and the books were each \$0.75. If she paid with a twenty dollar bill, how much change should she get back?	3	\$4.50
	$(3.55 \times 1 = 3.55) + (3.25 \times 3 = 9.75) + (0.75 \times 2 = 1.50) = 14.80$	4	\$13.15
)	Tiffany bought 1 gift bag, 2 boxes of ornaments and 2 boxes of candy canes at the Santa Store. The gift bag cost \$6.10, the boxes of ornaments cost \$2.00 a piece and the boxes of		\$4.35
	candy canes were each \$2.70. If she paid with a twenty dollar bill, how much change should she get back?	6	\$4.30
)	$(6.10 \times 1=6.10)+(2.00 \times 2=4.00)+(2.70 \times 2=5.40)=15.50$ Isabel bought 3 erasers, 3 pens and 1 pencil at the school shop. The erasers cost \$0.50 each,	7	\$1.95
	the pens cost \$1.45 a piece and the pencil was \$1.00. If she paid with a twenty dollar bill, how much change should she get back? $(0.50\times3=1.50)+(1.45\times3=4.35)+(1.00\times1=1.00)=6.85$	8	\$6.45
)	Emily bought 2 hotdogs, 1 hat and 2 sodas at the baseball game. The hotdogs cost \$5.85 each, the hat cost \$1.75 and the sodas were each \$1.10. If she paid with a twenty dollar bill, how much change should she get back? ( $5.85 \times 2=11.70$ )+( $1.75 \times 1=1.75$ )+( $1.10 \times 2=2.20$ )=15.65	<sup>9.</sup> _	\$10.50
)	Nancy bought 1 soda, 3 cans of cheese dip and 1 bag of chips at the grocery store. The soda cost \$3.35, the cans of cheese dip cost \$3.70 a piece and the bag of chips was \$1.25. If she paid with a twenty dollar bill, how much change should she get back? $(3.35 \times 1=3.35)+(3.70 \times 3=11.10)+(1.25 \times 1=1.25)=15.70$		
)	Henry bought 1 hoodie, 1 jacket and 1 T-shirt at the clothing store. The hoodie cost \$4.20, the jacket cost \$6.50 and the T-shirt was \$7.35. If he paid with a twenty dollar bill, how much change should he get back? $(4.20 \times 1=4.20)+(6.50 \times 1=6.50)+(7.35 \times 1=7.35)=18.05$		
)	Paul bought 1 box of candy, 2 bags of popcorn and 1 soda at the theater. The box of candy cost \$6.85, the bags of popcorn cost \$2.45 a piece and the soda was \$1.80. If he paid with a twenty dollar bill, how much change should he get back? ( $6.85 \times 1=6.85$ )+( $2.45 \times 2=4.90$ )+( $1.80 \times 1=1.80$ )=13.55		
))	Luke bought 3 soccer balls, 2 footballs and 1 baseball at the sports store. The soccer balls cost \$1.65 each, the footballs cost \$2.25 a piece and the baseball was \$0.05. If he paid with a twenty dollar bill, how much change should he get back? $(1.65\times3=4.95)+(2.25\times2=4.50)+(0.05\times1=0.05)=9.50$		

Math

	Dete	ermining Change	e - Multiple Cos	ts , Multiple Iter	ns Name:	
Solve each problem.						Answers
$\bigcap$	\$4.35	\$10.50	\$4.50	\$5.80	\$4.30	
	\$6.45	\$5.20	\$13.15	\$1.95		1
1)	\$6.95, the used	game cost \$2.55 ar		des were each \$2.3	ore. The poster cost 5. If he paid with a	2 3
2)	Janet bought 1 bookmark, 3 posters and 2 books at the school book fair. The bookmark cost \$3.55, the posters cost \$3.25 a piece and the books were each \$0.75. If she paid with a twenty dollar bill, how much change should she get back?					4 5
3)	Tiffany bought Store. The gift b candy canes we	6				
•	should she get b	7				
4)	Isabel bought 3 the pens cost \$1 how much chan	9				
5)	each, the hat cos	•	das were each \$1.1	eball game. The ho O. If she paid with	otdogs cost \$5.85 a twenty dollar bill,	
6)	cost \$3.35, the c	cans of cheese dip		and the bag of chip	cery store. The soda as was \$1.25. If she	
7)	the jacket cost \$	•		clothing store. The paid with a twenty	hoodie cost \$4.20, dollar bill, how	
8)	cost \$6.85, the b	bags of popcorn co		d the soda was \$1.	The box of candy 80. If he paid with a	
<b>9</b> )	cost \$1.65 each,	the footballs cost			e. The soccer balls 0.05. If he paid with	

Math